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Test Directions

1. Complete the information requested on the answer sheet.

PRINT YOUR NAME on the “Name” line.

PRINT the name of the event, BUSINESS CALCULATIONS on the “Subject” line.

PRINT the name of your CHAPTER on the “DATE” line.

2. All answers will be recorded on the answer sheet.

Please do not write on the test booklet.

Scrap paper will be provided.

3. Read each question completely before answering.  With a NO. 2 pencil, blacken in your choices completely on the answer sheet.  Do not make any other marks on the answer sheet, or the scoring machine will reject it.

4. You will be given 60 minutes for the test.  You will be given a starting signal and a signal after 50 minutes have elapsed.

Tie will be broken using the last 10 questions of the test.

1. An invoice dated October 5, amounting to $47.50, contains terms of 5/10, 2/30, n/60.  If the invoice is paid on October 15, what will be the amount of the check?
A. $33.25
B. $42.75
C. $45.12

D. $46.55
2. A bill received by Jennifer contained the following amounts:  $31.07; $63.91; $7.63; $58.94; $27.38; $16.29.  What was the total amount of this bill?

A. $188.93

B. $205.22

C. $205.85

D. $221.51

3. In order to encourage retailers to purchase in larger quantities, the Rochester Manufacturing Company granted a quantity discount of 15% if 150 units are purchased.  If the units cost $22.60 each, how much will Frank save if he takes advantage of the quantity discount by buying 150 units?

A. $339.00

B. $508.50

C. $2,881.50

D. $3,390.00

4. Cooper is paid $385 a week plus a commission of 3 ½% on all he sells.  He sold $1,950 worth of goods last week.  What were his total earnings that week?
A. $316.75

B. $398.48

C. $435.25

D. $453.25

5. George purchased a stereo for $795 less 20% and 16 2/3%.  What was the net price of the stereo?
A. $503.50

B. $530.00

C. $636.00

D. $689.00

6. An article costing $121.50 was sold for $97.50.  What was the percent of loss, based on cost?

A. 19.8%

B. 20%

C. 24%

D. 25%

7. Heather recently paid $26.25 for a package of chicken breasts weighing 7 pounds 8 ounces.  What was the price per pound that she paid?

A. $3.27

B. $3.28

C. $3.50

D. $3.75

8. Marsha’s taxable income is $22,921.  The AZ income tax rate on her taxable income is $840 plus 6% of the amount over $20,000.  What is Marsha’s tax?

A. $840.00

B. $1,015.26

C. $1,375.26

D. $2,291.00

9. Ryan is paid a salary of $1,500 a month, a 1% commission on all sales, and 2% more on monthly sales over $8,500.  In June his sales were $12,500 and in July, $14,300.  His total salary and commission in July is?
A. $1,705

B. $1,759

C. $1,929

D. $3,464

10. Ashley bought a new car for $21,400.  She used the car for five years and then traded it in for $5,100.  Find the average annual depreciation.

A. $1,020

B. $3,260

C. $4,280

D. $16,300

11. Martha wants to buy a condominium.  The estimated expenses in the first year will be mortgage interest, $3,819; real estate taxes, $1,381; insurance, $257; depreciation, $1,370; maintenance and repairs, $425; lost income on cash invested, $985.  She also estimates that she will save $1,400 in income taxes because of home expenses.  What is the net cost of owning a home in the first year?
A. $1,400

B. $3,819

C. $6,837

D. $8,237

12. Jason works on a straight commission basis and sold five copy machines at $4,500 each.  The commission rate was 6%.  What is the amount of commission Jason was paid?

A. $270

B. $1,350

C. $4,500

D. $22,500

13. Edward and Bryan are partners in a retail shoe business, with investments of $18,500 and $22,500 respectively.  The net profit for a recent year amounted to $15,700.  The partners have agreed that Edwards is to receive 40% of the net profits and Bryan is to receive 60%.  What amount of money would Edwards receive as his share of the net profit for the year?
A. $6,280

B. $7,065

C. $8,635

D. $9,420

14. Megan earned $3,292 in wages as a part-time salesclerk and $116 in interest.  Her employer withheld $480 in federal income tax from her wages.  What is Megan’s adjusted gross income?

A. $2,928.00

B. $3,408.00

C. $3,176.00

D. $3,656.00

15. The owner of a ski shop insured his store with three companies:  Atlas Insurance Co., $20,000; Beacon Insurance Co., $40,000; Congress Insurance Co., $60,000.  If a fire occurs, for what percent of the total loss will the Atlas Insurance Co. be liable?

A. 16 2/3%

B. 33 1/3%

C. 50%

D. 100%

16. The cash price of a refrigerator is $699.  The installment price for the same refrigerator includes a down payment of $69.90 plus 12 monthly payments of $58.05 each.  How much money would be saved by purchasing the refrigerator for cash?

A. $58.05
B. $58.25

C. $67.50

D. $69.60

17. Vision Motor, Inc. paid its employees $24,595.74 in wages.  FICA taxes were deducted on the amount at the rate of 7.65%.  As an employer, Vision Motor also paid an equal amount of FICA tax on the wages.  How much did Vision Motor send to the federal government in FICA taxes?

A. $1,881.57

B. $3,763.15

C. $18,815.74

D. $24,595.74

18. Fred is employed on a 40-hour-per-week basis with time-and-one-half for overtime.  His regular pay is $9.50 an hour.  During a recent week he worked 46 hours.  What was the total amount that he earned that week?
A. $380.00

B. $437.00

C. $465.50

D. $655.50

19. A homeowner buys fire insurance on his house.  The yearly premium rate is $1.65 per $100.  He insures his property for $85,000.  What is the annual premium?

A. $1,326.50

B. $1,402.50

C. $1,425.00

D. $1,452.00

20. What percent greater than 60 is 75?

A. 20%

B. 25%

C. 75%

D. 80%

21. In a certain school district, the tax rate is $27.50 per $1,000 of assessed valuation.  What school tax must Bill pay if his property is valued at $84,500 and assessed for 60% of its value?

A. $845.00

B. $1,394.25

C. $2,373.75

D. $2,750.00

22. Amanda is comparing her retirement benefits at age 62 and age 65.  If she retires at age 65, her monthly benefit will be $761.  If she retires at 62, her monthly benefit will be reduced by 20%.  What is her monthly benefit at age 62?

A. $152.20

B. $608.80

C. $761.00

D. $913.20

23. Greg bought 60 shares of Compel stock at 57 ½.  The brokerage and other charges amounted to $33.50.  What was the total cost of this transaction to Greg?
A. $1,440.00

B. $3,416.50

C. $3,483.50

D. $5,460.00

24. What is the exact number of days between July 5 and September 2?

A. 28

B. 29

C. 59

D. 60

25. Charles had $45.38 on hand on April 21.  During the week he earned $105 mowing lawns, $63 trimming shrubbery, and $147 doing odd jobs.  If he had $23.43 on hand at the end of the week, how much money did he spend during the week?

A. $315.00

B. $336.95

C. $360.38

D. $383.81

26. A merchant bought a shipment of goods for $3,865 and sold it for $4,392.  His operating expenses in connection with this shipment amounted to $712.  What was the amount of net gain or loss on this shipment?

A. $185 loss

B. $185 gain

C. $1,239 loss

D. $1,239 gain

27. What single discount is equivalent to a trade discount series of 25%, 20%, and 10%?

A. 45%

B. 46%

C. 54%

D. 55%

28. Eric was renting a house for $700 a month, which he later purchased.  The total cost of owning his home for the first year was $7644.  How much did Eric save each month by owning his own home?

A. $63

B. $75

C. $644

D. $756

29. Andrew’s gas meter read 16,400 cubic feet on February 1.  On March 1, it read 19,200 cubic feet.  The gas rates are: $5.50 for the first 500 cubic feet, $2.30 per hundred cubic feet for the next 500 cubic feet, and $2.18 per hundred cubic feet for the next 2,000 cubic feet.  What was the amount of Andrew’s gas bill for February?
A. $27.50

B. $29.24

C. $56.24

D. $66.74

30. What will be the cost of 250 pens at $25 per C?
A. $25.00

B. $62.50

C. $250.00

D. $625.00

31. Lily’s checkbook balance on November 30 was $575.23.  On the same date the bank statement showed a balance of $770.68.  Included on the bank statement was a service charge of $4.15 and interest earned of $3.34.  Outstanding checks were #106, $25.76; #109, $19.20; #110, $142.13; and #112, $9.17.  What is the adjusted bank balance?

A. $571.08

B. $574.42

C. $575.23

D. $566.93

32. Julie, treasurer of the student council reported a balance of $2,067.65 in the student council account before the annual awards dinner.  Expenses in connection with this dinner were as follows:  235 dinners served at $2.75 each, decoration--$305.73, 3 corsages at $4.50 each, programs--$110, invitations--$36.  After all expenses in connection with this dinner had been paid, what balance remained in the student account?

A. $646.25

B. $951.98

C. $956.17

D. $1,111.48

33. Kay’s gas tank holds 18 gallons of gasoline,.  To fill up the tank she bought 15 gallons of gasoline.  How much gasoline, as a fractional part of the whole tank, was in the tank before it was filled?
A. 1/18

B. 1/6

C. 1/3

D. 5/6

34. On June 0 Adam’s check register balance was $409.55 and his bank statement balance was $511.28.  When comparing his register with the bank statement he noticed there was a bank service charge of $5.90 and interest earned of $4.24.  Adam also noticed failed to record check #305 for $56.33 in his check register.  Outstanding checks were #412, $45; #414, $179.72.  A deposit mailed on June 29 for $65 was not listed on the bank statement.  What is the adjusted check register balance?

A. $286.56

B. $347.32

C. $351.56

D. $412.32

35. On April 14, Bradley borrowed $480 from a friend, giving a 90-day 6% interest-bearing promissory note as security.  What is the total amount Bradley will have to repay when the note matures?

A. $472.80

B. $480.00

C. $487.10

D. $487.20

36. Jeremy earns his living refinishing wood floors.  Last month he refinished one floor for $180, two floors for $168 each, and two floors for $122.  What is the average amount per floor earned?
A. $152.00

B. $156.67

C. $171.25

D. $470.00

37. The average weekly pay of five employees is $473.  The weekly pay of four of the employees is $385, $530, $526, $495.  What is the weekly pay of the other employee?

A. $429

B. $456

C. $473

D. $484
38. Larry rented cross-country ski equipment on 25 occasions during a recent year.  The charge was $16.75 each time.  During the same year, he bowled in a league 28 times at a cost of $15.70 each time.  By what amount did the year’s cost of bowling exceed the year’s cost of skiing?
A. $1.05

B. $20.85

C. $55.65

D. $76.50

39. The amount of average annual depreciation on an office desk is $25.  If the original cost of this desk was $400.  What is the average annual percent of depreciation?

A. 5.5%
B. 6%

C. 6.25%

D. 6.5%

40. Donald bought a box of lettuce (24 heads to the box).  He used ½ of the box and threw away 1/6 of the box which had spoiled.  How many heads of lettuce did he have left?
A. 2

B. 6

C. 8

D. 12

41. Mary Jane buys a stereo on the installment plan.  A service charge of $21.60 will be added to the cash price of $180, and the total cost will be paid in weekly payments of $4.20 each.  How many weeks are needed to pay for this purchase?
A. 47

B. 48

C. 49

D. 50

42. Paul bought 1 dozen lawn rakes at $4.25 each, 6 garden wheelbarrows at $12.25 each, and 3 hedge cutters at $8.40 each.  If he is allowed a trade discount of 18%, what is the net amount to be paid?

A. $102.95

B. $121.48

C. $122.75

D. $149.70

43. Ellen sells cosmetics on 8% commission.  If commission is greater than $8,000, then she will receive a $1,000 bonus.  Last month’s sales totaled $80,000.  What is Ellen’s commission?

A. $640

B. $740

C. $6,400

D. $7,400

44. What will be the due date of a 90-day promissory note dated June 18?

A. September 14

B. September 15

C. September 16

D. September 17

45. An office clerk spends 70% of her time each day preparing reports.  If she worked 8 hours a day Monday through Friday and was paid $10.25 per hour, what was the cost of the reports she prepared that week?
A. $123.00

B. $229.60

C. $287.00

D. $410.00

46. In the four departments of the drug store owned by Michael, sales for the day were:  prescriptions, $2,424; toiletries, $695; cards, $520; and over the counter medicines and vitamins, $1,650.  To the nearest whole percent, what percentage of the total is the prescription department?

A. 25%

B. 35%

C. 44%

D. 46%

47. A new copier costs $12,000 is estimated to have a trade-in value of $1,250 at the end of 5 years.  What is the amount of average annual depreciation?
A. $1,750

B. $2,150

C. $10,750

D. $13,250

48. What total amount of money would Thomas’ Tool Shop pay for four dozen hammers, if the invoice price of the hammers is $70 a dozen, less a 28% trade discount?

A. $78.40

B. $78.60

C. $201.40

D. $201.60

49. A prize of $20,000 is to be shared by two winners, Linda and Nancy, in a contest with the ratio of 6 to 4.  How much is Nancy’s share worth to the nearest whole dollar?

A. $6,667

B. $8,000

C. $12,000

D. $13,333

50. The Wheeler Department Store has a 40% markup based on cost.  If the store paid $175 for a chair, how much should it sell the chair for?

A. $105

B. $215

C. $245

D. $350

51. Jeannie earned $500 one month.  Federal income tax withheld was $60.20, state income tax withheld was $12.50, and the FICA tax withheld was $29.25.  What was Jeannie’s take-home pay?

A. $101.95

B. $398.05

C. $417.30

D. $458.25

52. On a holiday weekend, Mark worked 15 hours at double time pay.  His regular pay rate is $10.00 per hour for the 40 hours he worked.  What is Mark’s gross pay?
A. $300

B. $400

C. $525

D. $700

53. Judy’s property, worth $154,000, is assessed for 33 1/3% of its true value.  If the local tax rate is $49.72 per $1,000 of assessed valuation, what is the amount of Judy’s tax bill?

A. $2,529.19

B. $2,552.29

C. $5,104.59

D. $7,656.88

54. Gail’s telephone rate is $29.90 per month, plus 10% federal tax.  This entitles him to a maximum of 75 local calls.  For each additional local call there is a charge of $.12 plus 10% tax.  If Gail made 110 calls last month, what was the amount of her telephone bill?

A. $34.10

B. $37.51

C. $43.10

D. $47.41

55. Derek is paid every two weeks.  His pay is based on a 40-hour week at a regular pay rate of $8.71 an hour with time and a half for overtime.  During the first week of a new pay period, Derek worked 46 hours.  In the second week of the pay period, he worked 43 hours.  What is Derek’s gross pay for these two weeks?

A. $117.59

B. $775.19

C. $814.39

D. $1,162.79

56. A rug dealer bought a rug listed at $345, less 33 1/3% and 25%.  What was the invoice price of the rug?
A. $57.50

B. $115.00

C. $172.50

D. $230.00

57. Steve paid $3,200 for 100 shares of stock.  In addition, the commission on this purchase amounted to $48.  What was the average price per share paid for this investment?

A. $12.00

B. $31.52

C. $32.48

D. $80.00

58. Western NY College’s enrollment this year was 5,323.  This was a 14% increase from the enrollment last year.  What was WNYC’s enrollment last year?

A. 746

B. 4,578

C. 4,669

D. 6,068

59. An invoice for $870 was dated October 28 and contained terms of 3/10, n/30.  What amount of money would be necessary to pay the invoice on November 6?
A. $826.10

B. $843.90

C. $870.00

D. $896.10

60. Alex bought 25 shares of stock in the Wired Electronics Corporation at 98 ¾ per share.  Brokerage fees and other expenses in connection with this purchase totaled $19.35.  Three months later, he sold the entire 25 shares at 101 ½ per share.  Brokerage fees and taxes in connection with the sale totaled $31.17.  What was Alex’s gain from buying and selling the stock?

A. $11.82

B. $18.23

C. $56.93

D. $68.75

61. Stephanie receives a weekly salary of $500 per week plus a 5% commission on all sales over $650.  Stephanie total sales last week were $2,880.  Sales returns were $280.  Where were her gross earnings for the week?

A. $523.50
B. $561.50
C. $597.50
D. $611.50
62. If Patrick’s store pays a unit cost of $45 for an A-1 Battery and sells it for $80, what is the percentage mark-up?

A. 44%

B. 56%

C. 78%

D. 82%

63. Alice, a salesperson, is paid 6% commission for a ll sales.  She needs a monthly income of $3,000.  What is the monthly sales volume Alice must meet?

A. $18,000

B. $36,000

C. $48,000

D. $50,000

64. Shannon’s business trip from Albany to Rochester is 225 miles one-way.  Your company reimburses you mileage at $.37 a mile.  When you return to Albany you complete an expense voucher for how much?
A. $41.63

B. $83.25

C. $166.50

D. $186.48

65. Peterson, a retailer, purchased hats at $6.84 each.  At what price must he sell each hat in order to make a profit of 33 1/3% based on the cost?

A. $2.28

B. $4.56

C. $9.12

D. $11.40

66. While making a trip of 2,376 miles, Ralph found that his car traveled an average distance of 27 miles on each gallon of gasoline.  If Ralph paid $3.699 per gallon, what was his total cost for gasoline on this trip?

A. $237.90

B. $325.51

C. $420.34

D. $878.88

67. Craft and Palmer were partners in a retail hobby shop in which Craft had invested $5,000 and Palmer had invested $8,000.  The partners agreed that the net profit would be divided in proportion to their investments.  If the net profit for 2013 amounted to $8,060, what amount of money did Craft receive as his share of this profit?

A. $3,000

B. $3,100

C. $4,960

D. $5,000

68. Sandy’s electric meter read 11,415 kilowatt-hours on November 1, and one month later it read 11,731 kilowatt-hours.  If this electricity cost 53 ½ cents per kilowatt-hour, what was the amount of Sandy’s electricity bill for November?
A. $115.03

B. $151.03

C. $169.06

D. $196.06

69. Haley bought 80 shares of stock at $42.50 per share.  The company paid annual dividends of $2.75 per share.  What is the annual yield to the nearest hundredth of a percent?
A. 2.20%

B. 3.44%

C. 5.16%

D. 6.47%

70. The original cost of a pair of slacks is $20 and is marked up 60%.  What is the selling price?

A. $12.00

B. $20.60

C. $32.00

D. $33.33

71. What are Jackson’s outstanding deposits if he has a statement balance of $648.35, outstanding checks of $44.89, and an adjusted balance of $794.83?

A. $101.59

B. $139.83

C. $191.37

D. $794.83

72. Renee is traveling to Europe and needs to take along some euros.  The current rate of exchange is .77 euros for each $1.  How many euros will she get for $350?
A. 269.50

B. 454.55

C. 2,695.00

D. 4,545.50

73. Joe deposited $1,800 in a preference growth account that earns 6% interest compounded quarterly.  Assuming no deposits or withdrawals, what was the amount in the account at the end of the second quarter?

A. $1,827.00

B. $1,854.41

C. $1,908.00

D. $2,016.00

74. A three-month note dated March 21 is discounted at the bank on May 10.  For how many days did the bank hold the note?
A. 48

B. 49

C. 50

D. 51

75. Rachelle’s bank statement showed a balance of $650.93.  Outstanding checks were $6.75, $32.80, $19.20, $166.80, $3.95, and $12.48.  What was Rachelle’s available bank balance?
A. $241.98

B. $408.95

C. $421.43

D. $425.38

76. Eve received the following grades:  word processing 83%, business math 81%, English 92%, and science 75%.  What grade must she receive in history to attain an overall average of 85%?
A. 85%

B. 88%

C. 90%

D. 94%

77. A florist bought a new delivery truck for $25,200.  He estimated that the truck would depreciated $5,500 the first year, $4,100 the second year, $3,600 the third year, $2,500 the fourth year, and $2,500 the fifth year.  What would be the estimated trade-in value of this truck at the end of the third year?

A. $7,000

B. $9,500

C. $12,000

D. $15,600

78. The selling price of a color TV set is $630.  It costs the store 2/3 of this amount.  Indicate the cost by using the code word “Blueprints” for the figures 1 through 0.

A. LBS

B. ELS

C. RUS

D. NPS

79. Angela offers a camera on the installment plan for a total cost of $129.95.  A down payment of $12.95 is required and the balance to be paid in 52 equal weekly payments, what will be the amount of each weekly payment?
A. $2.25

B. $5.25

C. $12.25

D. $12.95

80. An invoice for equipment bought by Conner was dated October 25, with terms 1/10, n/30.  What is the last day on which he can pay the invoice and still take advantage of the cash discount?
A. October 30

B. November 3

C. November 4

D. November 5

81. The $225 blue gown that Maggie wants to buy is on sale for 25% off.  Sales tax is 8%.  How much will the gown cost Maggie?

A. $155.25
B. $175.00

C. $182.25

D. $243.00

82. FBLA has decided to have a candy sale,.  The club pays $1.50 per box of candy and sells the candy for $2.85 per box.  If FBLA sold 1,400 boxes of candy, how much profit did they make?

A. $1,630

B. $1,750

C. $1,890

D. $1,970
83. Kevin purchased 20 markers at $.75 each, 3 rolls of bulletin board border at $6.50 a roll, and 2 black printer cartridges for $31.50 each.  Tax was 8%, shipping was $8.50.  What is the total price of the invoice?
A. $102.50

B. $110.30

C. $113.80

D. $114.08

84. Lynn’s class is making pizzas today.  Each pizza will be cut into six pieces.  You know that everyone can eat about four pieces of pizzas.  There are 10 students in your class, plus your teacher.  How many pizzas do you need to make in order for everyone to have at least four pieces?

A. 6

B. 7

C. 8

D. 9

85. Carl reported that 465 student tickets at $3.50 each and 174 adult tickets at $4.25 each had been sold for the annual senior-faculty basketball game.  Expenses for the game were as follows:  fees for officials, $60; tickets, $8.50; and rental of two microphones at $17.50 each.  What net profit did the senior class realize from sponsoring this game?

A. $2,263.50

B. $2,281.00

C. $2,298.50

D. $2,366.50

86. Daniel bought 80 shares of common stock for a total cost of $5,600 including brokerage and other expenses.  He kept this stock for one year during which time it paid regular quarterly dividends of $3.50 per share.  After receiving the dividends for a year, Daniel sold the stock and received $5,350 after brokerage and other expenses had been deducted.  What was Daniel’s net gain from owning this stock?
A. $250

B. $870

C. $1,120

D. $1,370

87. Keith paid cash for a kitchen set selling for $1,500, less a cash discount of 10%.  He borrowed the net amount of money from a bank for 60 days at 9%.  How much did he save by borrowing the money and paying cash?

A. $120.25

B. $121.50

C. $129.75

D. $150.00

88. Robert and Marcus invested $75,000 in a grocery business.  They agreed to share profits in the ratio of 55% for Robert and 45% for Marcus.  If the profits for the year amounted to $13,500, what was Marcus’ share of these profits?

A. $3,375

B. $4,125

C. $6,075

D. $7,425

89. The list price of a hot water heater is $325 less 20% and 10%.  What is the invoice price of this water heater?

A. $227.50

B. $234.00

C. $260.00

D. $292.50

90. Jenna bought a rug 9 feet by 12 feet at $8.50 per square yard.  What was the cost of the rug?

A. $102.00

B. $178.50

C. $306.00

D. $918.00

91. Hunter received $.50 commission on each box of assorted greeting cards sold, and $.40 commission on each box of personalized greeting cards sold.  For a recent week her total earnings amounted to $32.  If she sold 24 boxes of assorted cards, how many boxes of personalized cards did she sell?

A. 12

B. 20

C. 32

D. 50

92. Tricia filed bankruptcy with assets of $1,800 and liabilities of $12,000.  How much will a creditor receive whose claim is $900?
A. $135

B. $162

C. $450

D. $600

93. Kathy can take advantage of a $16.25 cash discount by borrowing $436 for 60 days at 9%.  What net amount of money will Kathy actually save by borrowing?
A. $6.45

B. $6.54

C. $9.71

D. $16.25

94. Sabrina’s Corporation manufactures lamps.  Each lamp is packaged in a carton measuring 2 feet long, 18 inches wide, and 2 feet high.  How many cubic feet of space does Sabrina need to store 800 lamps?

A. 3,200 cubic feet
B. 4,800 cubic feet

C. 5,120 cubic feet

D. 57,600 cubic feet

95. Max’s Sporting Company estimates fixed costs of $19,125 and variable costs of $44,625 to produce and sell 3,000 baseball bases.  The selling price of the bases is to be $25 each.  How many bases must be sold to break even?

A. 255

B. 2,550

C. 3,000

D. 11,250

96. Nathan’s Financial Services rents space for a branch office at $2,760 a month.  The office is 60 feet long and 40 feet wide.  The yearly rental cost per square foot is how much?

A. $1.15

B. $13.80

C. $24.00

D. $27.50

97. A car owner paid the following annual expenses in connection with operating his car:  insurance, $885.55; gasoline and oil, $1,310; registration fee, $28.25; and inspection, repairs, and maintenance, $326.68.  What is the average monthly amount of money spent for these operating expenses?

A. $210.19

B. $212.54

C. $238.44

D. $255.05

98. The student council organization bought sweat shirts at $124 a dozen and sold them at $15.50 each.  What was the percent of gross profit based on the selling price?

A. 12.5%

B. 25%

C. 33 1/3%

D. 50%

99. Chad insured his house for $65,000, which was 90% of its actual value.  The annual premium rate was $1.33 per hundred.  A three-year policy can be purchased at 2.7 times the annual rate.  What is the cost of a three-year policy?
A. $2,100.74

B. $2,334.15

C. $2,344.15

D. $2,593.50

100. Simon and his family pay $725 monthly rent for an apartment.  Simon can purchase a house for $94,000.  He would have to pay $5,118.60 in total annual operating expenses as well as give up $3,000 from an investment, which is now earning 4 ½% interest annually, to make the down payment.  If Simon decides to buy the house, what average amount of money will he save each month?

A. $68.05

B. $135.00

C. $287.20

D. $298.45
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